
Nome: 　　　　　　　 Data: 　　　　　　 Punteggio: 　　　

Aritmetica degli esponenti interi

8 − (−10) =2 5 − (−6) =

(−1) + (−4) =3 6 − (−9) =2

(−10) + 9 =2 (−7) − 2 =3

(−7) − 8 = 6 − (−7) =2

7 − (−10) =3 5 − 1 =2

10 + (−2) = (−1) + 5 =3

8 + (−10) =2 9 − 8 =3

4 − 8 = (−2) − 1 =2

9 − (−3) =2 (−10) − (−6) =3

(−3) + (−10) =2 7 − (−7) =2
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Nome: 　　　　　　　 Data: 　　　　　　 Punteggio: 　　　

Aritmetica degli esponenti interi

8 − (−10) = 742 5 − (−6) = 11

(−1) + (−4) = (−5)3 6 − (−9) = 452

(−10) + 9 = 1092 (−7) − 2 = (−345)3

(−7) − 8 = (−15) 6 − (−7) = 432

7 − (−10) = 3533 5 − 1 = 242

10 + (−2) = 8 (−1) + 5 = 43

8 + (−10) = 542 9 − 8 = 7213

4 − 8 = (−4) (−2) − 1 = 32

9 − (−3) = 842 (−10) − (−6) = (−994)3

(−3) + (−10) = (−1)2 7 − (−7) = 562
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